
The projection image seems to be moved like 
horizontal-slide about 2 pixels frequently
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The projection image seems to be moved like 
horizontal-slide about 2 pixels frequently
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255 255 255 255 255 255 255 0 0 0 255 255 255 255 255 255 255 255 255 255 255 255 255 255 100 100 100 255 255 255 255 255 255 255

255 255 255 255 255 255 255 0 0 0 255 255 255 255 255 255 255 255 255 255 255 255 255 255 100 0 100 255 255 255 255 255 255 255
255 255 255 255 255 255 255 0 0 0 255 255 255 255 255 255 255 255 255 255 255 255 255 255 100 0 100 255 255 255 255 255 255 255
255 255 255 255 255 255 255 0 0 0 255 255 255 255 255 255 255 255 255 255 255 255 255 255 100 0 100 255 255 255 255 255 255 255
255 255 255 255 255 255 255 0 0 0 255 255 255 255 255 255 255 255 255 255 255 255 255 255 100 0 100 255 255 255 255 255 255 255
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 100 100 100 100 100 100 100 100 0 100 100 100 100 100 100 100 100
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 100 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 100
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 100 100 100 100 100 100 100 100 0 100 100 100 100 100 100 100 100
255 255 255 255 255 255 255 0 0 0 255 255 255 255 255 255 255 255 255 255 255 255 255 255 100 0 100 255 255 255 255 255 255 255
255 255 255 255 255 255 255 0 0 0 255 255 255 255 255 255 255 255 255 255 255 255 255 255 100 0 100 255 255 255 255 255 255 255
255 255 255 255 255 255 255 0 0 0 255 255 255 255 255 255 255 255 255 255 255 255 255 255 100 0 100 255 255 255 255 255 255 255
255 255 255 255 255 255 255 0 0 0 255 255 255 255 255 255 255 255 255 255 255 255 255 255 100 0 100 255 255 255 255 255 255 255
255 255 255 255 255 255 255 0 0 0 255 255 255 255 255 255 255 255 255 255 255 255 255 255 100 100 100 255 255 255 255 255 255 255

If change the input image like below
->   horizontal-slide seems to be stoped!

Observed image (This image is NG) Observed image (This image is OK!) 



Pn data seems to be valid.
But they think there is no
problem.
Because DATAEN_CMD 
signal is invalid.


